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Al 68,701,581 70,505,260 21,803,679
SYotn SES A2 350,790 354,600 23,810
HE 24 80,510 87,820 A7,310
MR H 2ot 65,550 72,860 A7,310
201 LB AY| 65,550 71,740 26,190
01 AtS-2teld 65,550 71,740 26,190
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ZAES S| 0 1,440 A1,440
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[ 4,900 4,900 0
Al 991,200 1,018,700 A27,500
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[ 4,900 4,900 0
Al 991,200 1,018,700 A27,500
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201 LB AY| 943,300 961,800 218,500
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02 2322 927,500 926,000 1,500
. UHEISARL EUZ2 B 1,500 0 1,500
401 Al&HIZL200Y| 43,000 52,000 29,000
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ASX W ZXIHIIE XMl 7,000 15,000 28,000

SHA SHEK 12 YXA==2 EN 36,000 37,000 21,000

OIS E 1] HHS HAr2tel 1,876,984 1,915,205 N38,221

ANEAE L 2tARZE 1,876,984 1,915,205 N38,221

AFAF & 2HAL 2l 1,876,984 1,915,205 N38,221

101 el2it| 250,136 260,136 10,000

04 JIZH22NSE= 250,136 260,136 10,000

FAr2te| 246,636 250,316 23,680

-AZRIZR ¢ 10,548 14,228 23,680

F+ &K 0 6,320 6,320

401 AlEHIZL S| 502,159 519,380 A17,221

01 AlZHI 502,159 519,380 A17,221

AEAL AFRA AIARI0O2d EXIZ A 8,134 10,000 A1,866
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ANEAL =2 VOB(XSXEI]) WAl SA 70,000 80,000 10,000

ANEY 3EAEE GiED| I EE 89 3,392 8,000 24,608

405 KHAHE SHI 43,000 54,000 A11,000

01 A= ZH S| 43,000 54,000 A11,000

BE(Z) s 42MED| 3,000 14,000 11,000

HAY2HAUI(S A 65,533,783 67,267,931 N1,734,148

= 52,430 52,430 0

Al 65,481,353 67,215,501 A1,734,148

olA2HHI(3IAHIL) 65,495,943 67,231,091 N1,735,148

= 52,430 52,430 0

Al 65,443,513 67,178,661 A1,735,148

I8 2| 65,443,513 67,178,661 N1,735,148

101 @1 24H| 64,479,463 66,168,611 N1,689, 148

01 2= 54,442,287 56,431,435 N1,989, 148

== 36,490,728 36,816,365 A325,637

-72 8,564,261 8,889,898 N325,637

d2+4 1,953,183 2,019,399 166,216

A2tel2R4=¢ 3,700,457 4,988,273 A1,287,816

= 1,290,192 1,720,256 A430,064

1= 1,071,683 1,483,242 A411,559

-82 749,956 999,941 A249,985

92 562,122 749,496 187,374

—gI2AL 26,504 35,338 N8,834

HESOHI(=2ELEHS) 3,091,812 3,401,291 A309,479

03 SRE(PINHY) 22 RES 7,213,546 6,913,546 300,000

re= 500,000 200,000 300,000

304 HSRESSE 544,000 590,000 246,000

04 BRA(LI1H ) 22X 2 544,000 590,000 246,000
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